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LETTER SERIES

Letter series consists of a series of small letters which follow a certain pattern. However, some letters
are missing from the series. These missing letters are then given in a proper sequence as one of the
alternatives and we have to choose that alternative.

% EXAMPLES +
Ex.1 aab aaa bha

(A) baa (B) abb (C) bab (D) aab
Sol.(A)We proceed step by step as shown below:
1. The first blank space should be filled in by 'b' so that we have two a's followed by two b's.

2. The second blank space should be filled in either by 'a’ so that we have four a's followed by two
b's or by 'b' so that we have three a's followed by three b's.

3. The last space must be filled in by 'a".

4. Thus, we have two possible answers : 'baa’ and 'bba’ . But , only 'baa’ appears in the alternatives,
So, the answer 15 (A).

5. In case, we had both the possible answers in the alternatives, we would have chosen the one that
forms a more prominent pattern, which is aabb/aaabbb/aa. Thus our answer would have been

'bba’.

Ex.2 ____aba__ _ ba__ ab
(A) abbba (B) abbab
(C) baabb (D) bbaba

Sol.(B)The series 1s ab/ab/ab/ab/ab/ab
thus the pattern ab 1s repeated

Ex.J3 ___ babbba__ a
(A) ababb (B) baaab
(C) bbaba (D) babbb

Sol.(D)  The series 1s bababb/bababb
Thus the pattern bababb 1s repeated

Ex.4 abca_ bcaab__ca ___bbc __ a

(A) ccaa (B) hI;a
(C) abac (D) abba
Sol.(C) The series is abc/aabe/aabbe/aabbec/a
Ex.S a_ beeb ca  cca  baab ¢
(A) ababe (B) abcaa
(C) accab (D) bacaa

Sol.(A)The series 15 aabee/bbeaa/ccabb/aabee

the letters move 1n a cyclic order and 1n each group, the first and third letters occur twice.
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Ex.6 ¢ bbb __ abbbb _ abbb
{A) aabch (B) abeeb
(C) abacbh (D) bacbb

Sol.(B) The series 1s cabbbb/cabbbh/cabbbb
Thus , the pattern cabbbb 1s repeated.

Ex.7 mnonopgopqrs__
(A) mnopq (B) ogrst
(C) pgrst (D) grstu

Sol.(C) The series 13 mno/nopg/opgrs/pgrst

Ex.8 b _b__bb___ bbb__bb__b
(A) bbbbba (B) bbaaab
{C) ababab (D) aabaab

Sol.(C) The series 1s babb/bbab/bbba/bbbb. Thus 1n each sequence, a moves one step forward and b takes
its place and finally

in the fourth sequence, it 1s ehminated.

Correspondence Series

This type of series consists of three sequences with three different elements (Usually capital letters,
digits and small letters.) On the basis of the similarity in positions in the three sequences, a capital letter
1s found to correspond with a unigue digit and a umique small letter, whenever it occurs. The candidate
1s required to trace out this correspondence and accordingly choose the elements to be filled in at the
desired places.

Ex.9 In the following series, choose the alternative which contains the numerals to be filled in the
marked spaces, in the correct order.
B D 5 ASRDACBD
41 3208 N 7 e
d __x __bhocl CHEN TS
(A) 1,2, 3 4 (B)2,3, 1, 4
(C) 1,2 4 3 (D)2,1,4 3
Sol.(A)Clearly, in the second sertes, | occurs at the same position as D occurs in the first sereis, So |
corresponds to D. thus, the first question mark below D 1s to be replaced 1.

Now, in the third series, ¢ at the eighth place corresponds to A in the first series. While ¢ at the
sixth place corresponds to 2 in the second series. So, 2 corresponds to A. Thus, the second
question mark below A 1s to be replaced by 2 . In the third series, a at the first place corresponds
to B in the first series and a at the third place corresponds to 4 in the second sereis. So, 4
corresponds to B. Thus, the question mark below B 1s to be replaced by 4.

Now, only 3 remains. So 3 corresponds to C. Thus, the question mark below C 1s to replaced
by 3. Thus DACB corresponds to 1, 2, 3, 4.

Hence, the answer 15 (A)
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% EXAMPLES %

Ex#0 CB__D _BABCCB
1243 _ 77 117
a _ab_c¢c_b___ __
(A)3,4,43 (BY 3 L3
(€) 31,1, 3 (D)1, 4,41
Sol. (C) Comparing the positions of the capital letters, numbers and small letters, we find a

corresponds to C and | corresponds to a. So, a and 1 correspond to C. b corresponds to A and
2 corresponds to b. So b and 2 correspond to A. Also, 4 corresponds to D.

So, the remaining number 1.e. 3 corresponds to B. so, BCCB corresponds to 3, 1, 1, 3
Ex11 AC_BD _CDCD

2 41 149
cd _bc_ a?7?21?2
(A)a,b,a, b (B)a, c,a,c
({C)e,b,c, b (D)ye,d, ¢, d

Sol. (A)  Clearly, 4 corresponds to C and a corresponds to 4. So, a corresponds to C. | corresponds
to D and b corresponds to 1. So, b corresponds to D. Thus, CDCD corresponds to a, b, a, b.

Alphabet Series

In the alphabet series we have to find the relation or the order in which the letters have been grouped
together, and hence, then missing group of letters from the choice given below.

% EXAMPLES <

Ex.12 What terms will fill the blank spaces ?
Z,X,V,TR(.)(.)
(A)O, K (BINM (O K,S(D)P, N

Sol. Clearly, the given series consists of alternate letters in a reverse order. So, the missing
terms would be P and N.

Ex.13 What will be the next term in BDF, CFI, DHL?
(A) CIM (B) EIM (C) EJO (D) EMI
Sol. Clearly, the first, second and third letters of each term are respectively moved one,

two and three steps forward to obtain the corresponding letters of the next term. So, the missing
term is EJO.

Hence, the answer 15 (C)

Ex.14 Choose the term which will continue the following sereis :
3 CRIETRELVI2ZLY?

(A)Y 170 B)X1TM
C)X170 (D)X 160

Sol. Clearly, the first letters of the terms are alternate. The sequence followed by the
numbers 15 +2,

+3, +4, .. The last letter of each term is three steps ahead of the last letter of the preceding term.
Thus, the next term would be X 17 O. Hence, the answer 15 (C).
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EXERCISE

Q1 Y WUS Q77

(A)N,J BIML({(C)J,R (D)O, M
Q2 ABDG?

(A) M (BJL (C) K (D)H
Q3 A CFH ™M

(A) L (BJK (C)J (D) 1
Q4 Z L X JLVHTFE1?T7?

(A)R,D (B)R,E (C)5,E (D)Q,D
Q5 W VTS QPNM?,?7

(ALY (B)J, I (OJK (DK,]
Q6 CE, GI, KM, 0Q, ?

(A)TW (B)TV (C)SU (D)RT
Q.7 BD, GI, LN, Q5§, ?

(A)TV (BYUW (C) WX (D) VX
Q.8 OTE, PUF, QVG RWH, ?

(A)SY] (B)TXI (C) S8XJ (D) SXI
Q9 ejotydins xch?

(A)ynrw  (B)mrw (C)msx (D) nsx
Q.10 AB, DEF, HUUK, 7 , STUVWX

(A) MNOPQ (B) LMNOP

(C) LMNO (D) QRSTU
Q.11 275, 7Y7, 14X9, 23W11, 34V13, ?

(A) 27U24 (B)47U15

(C) 45U15 (D) 47V14

Q12 U0, L7 A

(AJE (B)C (C)S (D)G
Q13 Z U, Q72 L

(A) 1 B)K (OOM (D)N
Ql4 A ZX B VTCR,??

(A)PD (B)E,O(C)Q,E (D)O,Q
Q15 R,M 2 FED,?

(A)C,B (B)J,H (C)B,H (D)L C
Q16 Z S,W,0,T,K QG ?

(A)N,C (B)N,D(C) 0, C(D)O, D
Q17 ZY.X UTSPONK,??

(AVH,G (B)H,I (C)LH (D)J,1
QI8 bed f?2hij?!

(A)im (B)mi (C)in (D)jm
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Q.19 A7 BY CX 7

(A)EF (B)GH (CO)Il (D)DW
Q2 A7 CX FU, ?

(A) IR BV (C)JQ (D)KP
Q21 A7 GT, MN, ? YB

(A)KF (B)RX (C)SH (D)TS
Q.22 BF CH, 7, HO, LT

(A) DN (B)EL (C)EM (D)EF]
Q23 AD EH,IL, 7 QT

(A)LM (B)MN (C)MP (D) OM
Q.24 JE, LH, OL, 8Q, ?

(A) WV (B)WX (CO) VW (D) XW
Q.25 DF, GJ, KM, NQ, RT, ?

(A)UW (B)YZ (O)XZ (D)UX
.26 cx fu ir 7 ol n

(A) lo (Bymn (C)no (D) op

Q.27 eac gee 1eg 7

(A)jhi  (B)jgi (C)kgi (D) khi
Q.28 CAT, FDW, IGZ, ?

(A) KJA (B) KTC (C) LHD (D) LIC
Q.29 BEH, KNQ, TWZ, ?

(A)LIL  (B) CFI (C) BDF (D)ADG
Q.30 deb 1g nol 7 xyv

(A)rsp (B)stp (C)rsq (D) stq
Q31 7?7 siy oeu kag gwm cn

(Aywnc (B)wnb (C)vnc (D)wme
Q.32 QPO, SRQ, UTS, WV, ?

(A) XVZ (B)ZYA (C) YXW(D) VWX
Directions :

In each of the following letter series, some of the letters are missing which are given in that order as one
of the alternatives belows it. Choose the correct alternative.

Q33 ab_ _ b _bbaa _

(A) abaab (B) abbab{C) baaab(D) babba
Q34 _baa _aab _a_a

(A) aabb (B) aaba (C) abab (D) baab
Q35 aa_ab _ aaa a

(A) aaab (B) aabb (C) abab (D) baaa

Q36 a_bbc _aab _cca _ bbec
(A) bacb (B) acba (C) abba (D) caba
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Q.37

Q.38

0.39

Q.40

Q.41

Q.42

Q.43

0.44

Q.45

Q.46

Q.47

Q.48

.49

Q.50

Q.51

Q.52

Q.53

Q.54

ab aa bbb _aaa bbba

(A) abba (B) baab (C) aaab (D) abab
bc_b_c¢_b_cch

(A) cbeb  (B) bbeb (C) cbbe (D) bebe
abb baa a bab _aba

(A) abba (B) abab (C) ccac (D) aabb
_bbca becca _ac _a _cb

(A) abcba (B) acbab(C) bacab(D) bcaab
_bec _ac _aabb _ab _cec

(A) aabca (B) abaca (C) bacab(D) bcaca
ab_aa caab ¢ _abb _c¢

(A) bbcaa (B) bebea (C) cabac (D) cbbac

¢ _baa aca _cacab _ acac _ bca

(A) achaa (B) bbcaa(C) becab(D) chaac
_aba _cabc _dcba _bab _a

(A) abdca (B) beadc (C) abedd (D) cbdaa
a cdaab c¢c _daa bbb _ ccddd

(A) bdbda (B) bddca(C) dbbca (D) bbdac
a _abbb _ccced ddece  bb _ ba

(A) abeda (B) abdbe(C) abdch (D) abcad
_ bedbe _ deabd _ bedbe _ de _ bd

(A) aaaaa (B) cccce (C) bbbbb (D) ddddd
adb _ac _da _cddeb _ dbe _ chda

(A) beeba (B) chbaa(C) echba(D) bbead

¢ _bbb _ _ abbbb _ abbb _

(A) aabcb (B) abeeb(C) abacb(D) bacbb

b _abbc bbca bcabb _ ab

(A)acaa (B)acba (C) cabc (D) cace

ac _ cab _baca _ aba _ acac

(A) aachb (B) acbc (C) babb (D) bebb
_acca _ ccca _ accec _ aaa

(A)acca (B)caaa (C) ccaa (D) caac
_bc _ _bb _aabc

(A) acac (B) babc (C) abab (D) aacc

_baa _aab _a _a
(A) aabb (B) aaba (C) abab (D) baab
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Q55 _  babbba a

(A) ababb (B) baaab({C) bbaba (D) babbb
Q56 aa_ab __aaa _a

(A) aaab (B) aabb (C) abab (D) baaa
Q.57 a_bbc _aab _cca _ bbec

(A) bacb (B) acba (C) abba (D) caba

Q58 ab _aa bbb _aaa bbba

(A) abba (B) baab (C) aaab (D) abab
Q59 bec b _¢ b _cch

(A) cbeb  (B) bbeb (C) cbbe (D) bebe
Q60 _bbea beeca ac _a _cb

(A) abcbha (B) acbab (C) bacab(D) bcaab



